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Review Exercise 1

Select the correct answer in each of the following.

The order of matrix[Z 1] is....
(a) 2-by-1
(c) 1-by-1

{«E
0 2

(a) Zero
(¢) Scalar

}s called ...matrix,

Which is order of a square matrix?
(a) 2-by-2

(c) 2-by-1
2
Order of transpose of | O 1 |is...
3 2
(a) 3-by-2
(c) 1-by-3

. {1 2]
Adjoint of is...
0 -1

-1 -2
(a) 0 1}

-1 2
() 0 1

2

Product of [x y]{_l}s...

(a)[2x+y]
(©)[2x—y]

2 6 .
If =0, then x is equal to...
3 x

(2) 9
()6

(b) 1-by-2
(d) 2-by-2

(b) Unit
(d) Singular

(b) 1-by-2
(d) 3-by-2

(b) 2-by-3
(d) 3-by-1

(b)

(d)

(b) [x-2y]
(d)[x + 2y]

(b) -6
(d) -9

-1 -2 1 0 .
If X+ = , then X is equal to...
0 0 1

2 2
@1,
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Q.2 = Complete the follwoing:
. 0 0], :
(i) is called ... matrix.
.. ol :
(ii) is called ... matrix.
P 1 2.
(iii)  Additive inverse of {O ]:|IS....
(iv)  In matrix multiplication, in gereral, AB .. BA.
(v) Matrix A+B may be found if order of A and B is...
(vi) A matrix is called ... matrix it number of rows and columns are equal.
ANSWER KEY
Solution: (i)
_ - 2.3 5
a+3 4 3 4
3 1If — then 2A+3B:2{ :|+3{
Q { 6 b—d} {6 2}’ ) l=0] |2
find a and b. |4 6}+{15 -42}
a+3 4 -3 4 B 6 =
Solution: = |2 0 6 #
6 bh-1 6 2 | 4+15 612
AR b2 L2o6 o=
a=-3- =2+ =
a=-6 b =3 Ans _|1? ¢ Ans
__4 _3_
2 3 5 4
Q4 If A= B , then Solution: (ii)
1 0 -2 -1 3
find the following. —3A+2B = —3{ } + 2{
(i) 2A+3B 1 0
(i)  34+2B 6 9| [10 -8
(iiiy  —3(A+2B) :__3 o4 o
(iv) %(2A—3B) [ -6+10 —9—8}

5
-2

4
-1

|



4  —17
= Ans

Solution: (iii)
2 3
—3(A+ZB):—3{ +2{
1 0]
2 3] [10 -8]
=3 +
1 0] |4 -2]
(2410 3-8
1-4 0-2

12 &5
-3 2

36 15
= Ans
9 6}

Solution: (iv) %(ZA -3B)

a2l 0l
B 2}{156 _132D
[ 4-15  6-(-12)
22(-6) 0(3>}

11 6+12
_2+6 0+3

—11 18
8 3

—11><2 18><2

T W W W W WM

5 —4
—2 -1

Q.5 Find the value of X, if
2 1 4 -2
+X = .
3 -3 -1 =2
Solution: Given that
2 1 4 -2
+X =
3 -3 -1 -2
4 =21 [2 1]
X = —
-1 -2 3 =3]

4-2 —2-1
)

2 -3
|4 243

2 -3
X = Ans
-4 1
0 1 -3 4
Q6 If 4= ,B= y
2 -3 5 2

then prove that
(i) AB # BA
(i)  A(BC)=(4B)C
Solution: Given that

=l apes

(i) AB #BA
L.H.SZAB:B _13}{_53 _42}
[ox(=3)+Ixs . 0xd+1x(-2)
C12x(=3)+(=3)x5 2x4+(-3)x(-2)
_| 045 0—2}

615 8+6
:_—21 ;ﬂ =)
R.H.SZBA:{_; _ﬂB _13}
_{3(0%4(2) S3(1)+4(- )}
15(0)+(=2)(2) 5()+(-2)(=3)
0+8 -3-12
“lo-4 5+6}
:__84 Zﬂ - (ii)

From (1) and (i1) , we get

|



LHS#KHS

AB # BA
Hence proved

(i) A(BC)=(4B)C
Solution:

We cannot solve because matrix C is not
given.

302 2 4
Q7 If A= and B = ,
1 -1 3 -5

then verify that
() (4B) =B'A
i) (4B) =B4"

Solution: Given that

3 2 2. 4
A= and B =
L an) D

(i) (4B) = B' A’

LRI

:' 3(2)+2(-3)  3(4)+2(-5) }
1(2)+(-1)(=3) 1(4)+(-1)(-5)
:_6—6 12—10}

12+3 445

0 2

s 9}

[2x3+(-3)x2 2(1)+(-3)(-1)
| 4x3+(=5)x2 4(1)+(-5)(-1)
[ 6-6 2+3}
12-10 445

0 5
= > 9} — (ii)
From equal (1) and (i) we get
L.HS=R H.S

(4B) =B'A'

Hence proved

(i) (4B) ' =84
0 2

5 9
=0x9-2x5
=0-10

=—10 (Non singular)
Inverse exists

Aalf(AB){_g5 ﬂ

LHS=(4B)" = 4dj(4B)

|48

1[92
10|50

-]

I
f—
o~
—
S—’

=2(-5)-4x(-3)
=—10+12

= 2 (non singular)
. B exists

|



3 02
|4 =
-1

=3(-1)-2x1
--3-2
= —5 (non singular)
s AT exists
adia=|

A B

at= L g4

14

G0 G S

s PO O

1 {5(1) HA) S+ (3)}
0 3(-)+2(-)  3(2)+2(3)

_1[5+4 10-12
10| -3-2 —6+6

From equation (1) and (i1) we get
LHS=RH.S

(4B) =B'4"

Hence proved



